Penthouse in Fgura



Fgura, South



€450,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²) : **126**

Reference No: 240011080-526

Bedrooms: 3

Penthouse - For Sale - Fgura

FGURA – New on the market! This newly built 3-bedroom penthouse is situated in a modern development and thoughtfully designed throughout. It features a spacious open-plan kitchen, living, and dining area, three double bedrooms (one with an en-suite), and a main bathroom. The property also enjoys a large front terrace and three rear balconies. Property is being sold finished, including bathrooms and internal doors and ready to move into. Freehold. A spacious one car interconnected garage is also being included. For more information and to book your viewing please contact our agent

Features

- ✓ Lift
- Video Hall Porter
- Electricity Utility
- PVC Piping
- Passenger Lift
- Balcony

- Ceramic Floor
- En Suite
- Gypsum Plastering
- Skirting
- Double Glazed

Rooms

- Kitchen/Living/Dining: 10 x 3.3 m (33 m2)
- ✓ Bathroom : 2.7 x 1.8 m (4.86 m2)
- Shower Ensuite : 2.5 x 1.5 m (3.75 m2)
- Double Bedroom: 3.07 x 3.28 m (10.07 m2)
- ✓ Double Bedroom : 3 x 4 m (12 m2)
- Open Space : 4.25 x 9.5 m (40.38 m2)
- Open Space : 3 x 1.3 m (3.9 m2)
- Open Space : 3 x 1.3 m (3.9 m2)
- Double Bedroom : 3.56 x 3 m (10.68 m2)
- Open Space : 3 x 1.3 m (3.9 m2)

Gallery





Elton Laferla RE/MAX Premium - St Julian's

M: 79079415

E: elaferla@remax.com.mt

T: 21384508

RE/MAX Premium - St Julian's

72/73, Gorg Borg Olivier Street, St Julian's, Malta